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Round 2 Tossups by Sandy Huang

1. This philosopher criticized the non-rigorous approach to calculus taken by Isaac Newton in The Analyst. In another work, the existence of sensible objects is comparable to that of objects in hallucinations according to this philosopher’s master argument. In another work, he argues again for immaterialism by stating, “Esse es percipi” or “to be is to be perceived.” For 10 points, name this English philosopher who wrote Three Dialogues Between Hylas and Philonous and A Treatise Concerning the Principles of Human Knowledge in addition to opposing John Locke and being the namesake of a certain public California university.
ANSWER: George Berkeley
2. To calculate this quantity, load is divided by length squared then divided by a correction factor when using the Knoop test. Meyer’s law is used to calculate this quantity using the Brinell scale. Surface area is expressed as length squared divided by two sine sixty-eight when measuring this quantity using Vickers test. A scale of A through G is used to measure this quantity on the Rockwell scale. Apatite and topaz are listed as five and eight on another scale measuring this quantity. For 10 points, talc is listed as one while diamond is listed as ten on the Mohs scale for this quantity that measures a solid’s resistance to shape change.
ANSWER: hardness
3. In one novel by this writer, the titular character becomes disappointed when he’s not taken seriously by Madame Medynsky. This writer ends that novel with Mayakin’s daughter Liuboff comforting the titular character. In one play by this writer, Satine recognizes the true personality of the gentle compassionate liar named Luka. At the end of that play, he depicts Natasha’s sister, also Mikhail Kostilyoff’s wife, Vassilisa Karpovna, being turned into the police along with her lover, Vaska Pepel. For 10 points, name this Russian writer who wrote Foma Gordeyev and The Lower Depths.
ANSWER: Maxim Gorky [or Aleksey Maksimovich Peshkov]
4. During this conflict, Edward Woodgate died after being defeated at the Battle of Spion Kop. William Forbes Gatacre and Paul Methuen were defeated at the Battle of Stormberg and the Battle of Magersfontein during this conflict. Those two battles of the Black Week occurred during the middle stages of the Battles of Ladysmith, which were early engagements of this conflict. Alfred Milner, Herbert Kitchener, Louis Botha, and Paul Kruger agreed to end this war in the Treaty of Vereeniging. For 10 points, name this war, lasting from 1899 until 1902, between the British Empire and the Orange Free State in South Africa.
ANSWER: Second Boer War [or Anglo-Boer War; or Anglo-Boereoorlog; or Engelseoorlog; or Tweed Vryheidsoorlog; prompt on Second War of Independence]
5. In one novel by this writer, Mr. Hagan marries a forty-year-old woman who pretends to be a twenty-seven-year-old named Lady Maria, a former fiance of Harry. In that novel, this writer focuses on Harry’s brother, a volunteer during the French and Indian War, named George Esmond Warrington. In another novel by this writer, the protagonist is caught having sex with Lord Steyne by her husband Rawdon Crawley. In that novel, he depicts George Osbourne who is survived by his wife Amelia Sedley, a schoolmate of Becky Sharp. For 10 points, name this English writer who wrote The Virginians and Vanity Fair.
ANSWER: William Makepeace Thackeray [or M. A. Titmarsh; or Ikey Solomons, Jr.; or George Savage Fitz-Boodle]
6. When the second virial coefficient equals zero, this scientist’s namesake temperature is obtained. In New Experiments Physico-Mechanical, this scientist published a work on air pumps. This scientist denied the limitation of elements to only earth, fire, air, and water in The Skeptical Chemist. He discovered a namesake law, sometimes also named for Edme Mariotte, which could formulate a combined law when put together with Gay-Lussac’s law and Charles’s law. For 10 points, name this English chemist who discovered a namesake gas law describing an inversely proportional relationship between pressure and volume.
ANSWER: Robert Boyle
7. This ruler’s general Inigo Fernandez killed Francisco Maldonado, Juan Bravo, and Juan Lopez de Padilla at the Battle of Villalar during the Revolt of the Comuneros. John Frederick I was defeated by this ruler at the Battle of Muhlberg during the Schmalkaldic War. During the Italian Wars, this ruler forced the signing of the Treaty of Madrid after defeating Francis I at the Battle of Pavia. He also dealt with the Augsburg Confession and the Diet of Worms as a result of the Protestant Reformation. For 10 points, name this son of Joanna the Mad and father of Philip II who ruled as Holy Roman Emperor from 1519 until 1556.
ANSWER: Charles V [or Charles I of Spain]
8. This philosopher introduced the difference, agreement, concomitant, joint, and residue methods as five namesake methods of inductive reasoning in A System of Logic. This philosopher expressed his commitment to sexual equality and liberal feminism in The Subjection of Women. He argues that certain freedoms can never be rightfully denied unless one violates the harm principle in one work, while another work argues that good acts produce the greatest happiness for the greatest number of people. For 10 points, name this English philosopher who wrote On Liberty and Utilitarianism.
ANSWER: John Stuart Mill
9. The Sasso Corbaro, Montebello, and Castelgrande compose this country’s Three Castles of Bellinzona. This country’s Val d’Herens contains the tallest gravity dam and tallest dam in Europe, the Grande Dixence Dam. This country’s highest point, Dufourspitze, is located on the Monte Rosa while the largest lake contained entirely in this country is located at Lake Neuchatel. With France, this country shares Lake Geneva, while its capital is located at Bern and its largest city is located at Zurich. For 10 points, name this landlocked European country known for its many financial banks and its long history of neutrality.
ANSWER: Switzerland [or Swiss Confederation; or Schweizerische Eidgenossenschaft; or Confederation Suisse; or Confederazione Svizzera; or Confederaziun Svizra]
10. This athlete was told, “If you don’t play it right, I’m going to kick your” behind “right here,” by a opposing player named Carlton Fisk. After playing five seasons for the Atlanta Falcons, this football player won Super Bowl XXIX and the 1994 NFL Defensive Player of the Year Award while playing for the San Francisco 49ers. As a wide receiver, he caught the first touchdown in Super Bowl XXX for the Dallas Cowboys. For 10 points, name this NFL cornerback who intercepted many passes for many teams on many occasions before high stepping his way into endzones in Prime Time fashion.
ANSWER: Deion Luwynn Sanders
11. In one novel by this writer, a pretty Russian girl named Marusja is silently adored by Joachim Ziemssen. In that novel by this writer, the inarticulate but enormously wealthy ex-planter named Mynheer Peeperkorn uses his strength of personality to engage the respect of Clavdia Chauchat’s lover, Hans Castorp. In another novel by this writer, the protagonist meets two red-haired strangers, a brutish gondolier, and a red-haired strolling player. He ends that novel by depicting Tadzio as the last face seen by Gustave von Aschenbach. For 10 points, name this German writer who wrote The Magic Mountain and Death in Venice.
ANSWER: Thomas Mann
12. This process is accelerated by the Warburg effect. The fifth step of this process is catalyzed by the triosephosphate isomerase, alternatively known as the TIM or TPI enzyme. This process’s fourth step is catalyzed by aldolase A, while its ninth step is catalyzed by 2PG and enolase. This process’s sixth step is catalyzed by GAPDH, while its third step is catalyzed by phosphofructokinase-1. For 10 points, name this metabolic pathway, also known as the Embden-Meyerhof pathway, whose final payoff step produces pyruvate and whose first preparatory step involves hexokinase catalyzing the phosphorylation of glucose.
ANSWER: glycolysis [accept Embden-Meyerhof-Parnas pathway before mentioned]
13. In this novel, a manuscript by Jonathan Pue is found in “The Custom-House.” A bitter-tempered witch named Mistress Higgins is the sister of Governor Bellingham in this novel. John Wilson exhorts one character in this novel to reveal the father of the unpredictable elfin child named Pearl. The conniving physician Roger Chillingworth hears a confession later given at the end of an Election Day sermon by Reverend Arthur Dimmesdale. For 10 points, name this American novel about an attractive adulterer named Hester Prynne, a character created by Nathaniel Hawthorne.
ANSWER: The Scarlet Letter
14. This scientist developed a concept for underground seismic exploration known as telegeodynamics and invented a charged particle beam projector known as the teleforce. At the 1893 World’s Columbian Exposition, this scientist used a toroidal iron core stator to build the Egg of Columbus. After discovering terrestrial stationary waves, this scientist designed the Wardenclyffe Tower. He developed a namesake steam-powered oscillator, built a namesake bladeless turbine, and was later named for the SI derived unit of magnetic flux density. For 10 points, name this Serbian-American inventor who invented a namesake coil.
ANSWER: Nikola Tesla
15. This mythological figure’s driver, later killed by Pallas, was named Halaesus. After the appearance of a plague, this mythological figure is forced to give up a slave named Chryseis but later compensates by taking another woman named Briseis. Aegisthus kills this mythological figure who had earlier sacrificed Iphigenia and had later taken in a concubine named Cassandra. Following his death, his son Orestes and his daughter Electra conspired to kill their mother, also his wife, Clytemnestra. For 10 points, name this brother of Menelaus who commanded the Achaeans in the Trojan War.
ANSWER: Agamemnon
16. This event included plans such as the New Economic Model proposed by Ota Sik and the Action Programme. The “Two Thousand Words” manifesto by Ludvik Vaculik supported this event. To protest the end of this event, a suicidal self-immolation was performed by Jan Palach. This event started as a result of Antonin Novotny’s resignation but was ended by Gustav Husak who began a period of normalization. For 10 points, name this 1968 Czechoslovakian period of liberalization that started when Alexander Dubcek came to power as a reformist opposed to the Warsaw Pact led by Leonid Brezhnev’s Soviet Union.
ANSWER: Prague Spring [or Prazske Jaro; or Prazska Jar]
17. This composer uses the prayer aria “Deh, Tu Reggi In Tal Memento” sung by Fabrizio’s servant Ninetta in La Gazza Ladra. This composer uses the aria “Si, Ritrovarla Io Giuro” sung by Prince Ramiro who is fascinated by Angelina in La Cenerentola. The aria “Sois Immobile” is sung by Jemmy’s father, also Hedwige’s husband, in one of his operas, while another opera cues the first entrance of its titular character with the aria “Largo al Factotum.” For 10 points, name this Italian composer who composed William Tell and The Barber of Seville.
ANSWER: Gioachino Antonio Rossini
18. While this politician served as Secretary of State, the Liberty Party freed William Henry during the Jerry Rescue to defy this politician who tried to enforce the Fugitive Slave Law as Millard Fillmore’s first Secretary of State. Samuel Foote’s resolution caused this politician to argue with Robert Hayne. This politician defended the Compromise of 1850 in the Seventh of March speech. As John Tyler’s first Secretary of State, this politician settled a border dispute with Ashburton. He was successful in arguing Dartmouth College v. Woodward. For 10 points, name this American politician born in New Hampshire.
ANSWER: Daniel Webster
19. Followers of this religion participate in a procession near the Takht Sri Keshgarh Sahib during Hola Mohalla and, during Vaisakhi, followers celebrate the birth of the Khalsa. The three pillars of this religion are kirat karo, vand chakko, and nam japo. Beliefs of this religion include the Five Banis, the Five Virtues, the Five K’s, and the Five Evils. Two scriptures of this religion include the Dasam Granth and Adi Granth. This religion’s holiest shrine is located at the Golden Temple and this religion’s teachings were founded by Guru Nanak Dev. For 10 points, name this Indian religion that is not Hinduism, Buddhism, or Jainism.
ANSWER: Sikhism
20. This painter depicts the victory of virtue over sensuality in Pallas and the Centaur. This painter depicts angels carrying scrolls containing Luke 2:14 and John 1:29 in The Mystical Nativity. This painter depicts wasps surrounding a sleeping titular subject who is being bothered by four mischievous fauns in Venus and Mars. He depicts the goddess of spring, Flora, next to Chloris who is being pursued by Zephyr in one work, while another work depicts Aura and Zephyr moving towards the titular subject who is emerging from a seashell. For 10 points, name this Italian painter who painted Primavera and The Birth of Venus.
ANSWER: Sandro Botticelli [or Il Botticello; or Alessandro di Mariano di Vanni Filipepi]
TB. In this play, news of the titular character’s death is brought by an officer named Seyton. The titular character of this play kills Young Siward but is betrayed by Lennox and Ross. The titular character of this play is also haunted by Fleance and Banquo. Near the end of this play, Malcolm, the son of Duncan, is presented the head of the titular character by Macduff. The titular character of this play succumbs to the prophetic statements given by the Three Weird Sisters and his wife tries to wash off her imaginary bloodstains. For 10 points, name this English play about a king of Scotland, a character created by William Shakespeare.
ANSWER: The Tragedy of Macbeth
TB. Dividing a wave’s angular frequency by the wave number obtains this quantity’s group form. Momentum per unit mass equals this quantity’s proper form. Taking the square root of the sum of the initial value of this quantity squared plus the product of the change in distance and twice the acceleration is one method of calculating this quantity. Another method of calculating this quantity adds the product of time and acceleration to the initial value of this quantity. This quantity can be calculated by dividing displacement by time. For 10 points, name this vector quantity measured in meters per second with a scalar quantity known as speed.
ANSWER: velocity [prompt on speed before mentioned]
TB. During the coronation of this ruler, anti-Semitic riots led to the death of Jacob of Orleans. Pierre Basile killed this ruler during an insurrection led by Aimar V. This ruler first used the motto, “Dieu et mon droit,” after winning the Battle of Gisors. This ruler won the Battle of Jaffa, the Battle of Arsuf, and the Battle of Acre. Suspected of murdering Conrad of Montferrat, this ruler was first imprisoned by Leopold V then given to Henry VI. He fought alongside his rival, Philip II Augustus, after succeeding his father, Henry II. For 10 points, name this English king who fought Saladin during the Third Crusade.
ANSWER: Richard I [or Richard the Lionhearted; or Richard Coeur de Lion; or Melek-Ric; or Malek al-Inkitar]
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1. Alectryon was turned into a rooster by this mythological figure. For 10 points each:
[10] Name this son of Hera and Zeus whose symbol was the vulture and who was the Greek god of war.
ANSWER: Ares
[10] Ares was the father of this Amazonian queen who gave her girdle to Heracles so he could complete his ninth labor.
ANSWER: Hippolyta [or Hippolyte]
[10] Ares was also the father of this Greek mythological figure who killed his father-in-law Deioneus and had sex with Nephele to create the Centaur race.

ANSWER: Ixion
2. Because he writes for The Daily Express, the protagonist of this short story is criticized by his colleague Molly Ivors. For 10 points each:
[10] Name this English short story in which the memory of Michael Furey dominates the conscience of Gretta, the wife of Gabriel Conroy.
ANSWER: “The Dead”
[10] This English short story collection includes the following stories: “Two Gallants,” “Ivy Day in the Committee Room,” “Araby,” “Eveline,” and “The Dead.”
ANSWER: The Dubliners
[10] This English writer wrote Exiles, A Portrait of the Artist as a Young Man, Finnegans Wake, Ulysses, and The Dubliners.
ANSWER: James Augustine Aloysius Joyce
3. A mutation on PABPN1 causes the oculopharyngeal form of this disease. For 10 points each:
[10] Name this disease that causes death in certain cells and tissues, defects in certain proteins, and progressive weakness in certain parts of the body often used to lift weights. 
ANSWER: muscular dystrophy [or MD]
[10] Gower’s sign is seen in patients with this severe variant of muscular dystrophy, the most common childhood form of muscular dystrophy.
ANSWER: Duchenne muscular dystrophy
[10] A symptom of muscular dystrophy may be this condition whose idiopathic form is caused by a mutation in CHD7 that results in a rotation of the ribcage thereby also resulting in a prominent rib or shoulder blade.
ANSWER: scoliosis
4. This ruler wrote Corpus Juris Civilis. For 10 points each:
[10] Name this Byzantine ruler who commissioned the Hagia Sophia and married the prostitute Theodora. 
ANSWER: Flavius Justinianus the Great [or Flavius Justinianus I; or Petrus Sabbatius]
[10] During this 532 event, Justinian the Great put down the Greens and Blues who had wished to declare a new emperor named Hypatius.
ANSWER: Nika riots
[10] This Byzantine historian wrote Buildings of Justinian, Wars of Justinian, and Secret History.
ANSWER: Procopius of Caesarea
5. These substances can either be homogenous or heterogeneous. For 10 points each:
[10] Name these substances that contain two or more different substances that are physically mixed together but not chemically combined.
ANSWER: mixtures
[10] These types of mixtures can be classified as emulsions, sols, aerosols, foams, or gels with examples such as milk, blood, smoke, shaving cream, and gelatin.
ANSWER: colloids
[10] Instead of causing atoms to scatter due to Rayleigh scattering, this effect causes the scattering of light in colloids.
ANSWER: Tyndall effect
6. This work presents the following arguments: the Argument From Degree, the Argument From Contingency, the Argument of the Unmoved Mover, the Argument of the First Cause, and the Teleological Argument. For 10 points each:
[10] Name this 1274 Italian work that presented the Quinque Viae, or Five Proofs, of God in addition to arguing that humans require more than philosophy in their search for truth, which is available only because of divine revelation.
ANSWER: Summa Theologica [or Summa Theologiae; or Summary of Theology; or Highest Theology]
[10] This Italian priest, a proponent of scholasticism and a namesake school of theology, wrote Summa Theologica.
ANSWER: Saint Thomas Aquinas [or Saint Thomas Aquino; or San Tommaso d’Aquino; or Doctor Angelicus; or Doctor Communis]
[10] In this 1264 work, Thomas Aquinas argues that a wise person deals with divine nature in the beginning then with truth in the end.
ANSWER: Summa Contra Gentiles [or Summary Against the Gentiles]
7. Frederick Townsend Ward died during this conflict. For 10 points each:
[10] Name this Chinese rebellion, lasting from 1850 until 1863, in which the Heavenly Kingdom was defeated.
ANSWER: Taiping Rebellion
[10] This Hakka Chinese leader proclaimed himself the brother of Jesus Christ and established the Heavenly Kingdom during the Taiping Rebellion.
ANSWER: Hong Xiuquan [or Hong Renkun; or Hung Hsiu-Ch’uan]

[10] The Nien Rebellion, Panthay Rebellion, Dungan Revolt, and Taiping Rebellion occurred during this Chinese dynasty that included rulers such as the Yongzheng Emperor, the Qianlong Emperor, and the Kangxi Emperor spanning from 1644 until 1912. 
ANSWER: Qing (Ching) Dynasty [or Qing Chao; or Ch’ing Ch’ao; or Manchu Dynasty; or Manzu Dynasty; do not accept Qin (Chin) Dynasty]
8. This holiday is introduced by the Kol Nidre. For 10 points each:
[10] Name this Jewish religious holiday on the tenth day of Tishrei that involves fasting during the Day of Atonement.
ANSWER: Yom Kippur [or Yom Ha-Kippurim]
[10] This Jewish religious holiday on the fourteenth, in some cases the fifteenth, of Adar involves reading the Book of Esther.
ANSWER: Purim [or Feast of Lots]
[10] This Jewish religious holiday on the sixth day of Sivan involves reciting the Akdamut and the Book of Ruth in addition to celebrating the anniversary of the day God gave the Torah to Moses.
ANSWER: Hag Shavuot [or Shavuos]
9. This work depicts Lake Genezaret in which a fish is caught by Peter. For 10 points each:
[10] Name this 1426 fresco in which the arrival of Jesus to Capernaum prompts a request for money by a tax collector.
ANSWER: The Tribute Money [or Tributo della Moneta]
[10] Collaborating with Masolino da Panicale, this Italian painter from Florence painted The Tribute Money.
ANSWER: Masaccio [or Tommaso di Giovanni di Simone Cassai]
[10] In this 1426 Masaccio fresco, a cherub dressed in red drives out Adam and Eve from the titular location.
ANSWER: The Expulsion from the Garden of Eden [The Expulsion from Paradise; or Cacciata dei Progenitori dall'Eden]
10. This tone poem was inspired by Nikolai Gogol’s short story St. John’s Eve. For 10 points each:
[10] Name this 1867 tone poem that was revised for inclusion in both Mlada and The Fair at Sorochyntsi in addition to being used by Leopold Stokowski as the musical score for depicting Chernabog in Walt Disney’s Fantasia.
ANSWER: St. John’s Night on Bald Mountain [or A Night on Bare Mountain; or Ivanova Noch′ na Lisoy Gore]
[10] Night on Bald Mountain was composed by this composer, a member of The Mighty Russian Five.
ANSWER: Modest Mussorgsky
[10] In this 1877 song cycle, Modest Mussorgsky composed songs set to four poems by Arseny Golenishchev-Kutuzov: “Cradle Song, the Child Breathes Gently,” “Death the Serenader, Soft is the Night,” “Field Marshal Death, War Rumbles,” and “Trepak, Death and the Peasant.”
ANSWER: Songs and Dances of Death [or Pesni i Plyaski Smerti]
11. These particles are used in PET scans. For 10 points each:
[10] Name these lepton particles with an electric charge of +1, the antiparticle counterparts of the electrons.
ANSWER: positrons
[10] Produced during the Big Bang due to baryogenesis, these entities are composed of antiparticles. 
ANSWER: antimatter
[10] This high-energy process created SN 2006gy by interacting a nucleus and a photon to create an elementary particle and its corresponding antiparticle; its analogous low-energy phenomenon is the photoelectric effect and its analogous mid-energy phenomenon is Compton scattering.
ANSWER: pair production
12. England’s Treasure by Foreign Trade was written by Thomas Mun, a proponent of this theory. For 10 points each:
[10] Name this economic theory that encouraged exporting and discouraged importing, a form of economic nationalism.  
ANSWER: mercantilism
[10] This economic theory was supported by 18th century French economists, such as Anna Robert Jacques Turgot, who encouraged the buying of land.
ANSWER: physiocracy
[10] Influenced by Manuel Belgrano and Anne Robert Jacques Turgot, this French physiocrat wrote Tableau Economique or Economic Table.
ANSWER: Francois Quesnay
13. This scandal was exposed by Benjamin Bristow. For 10 points each:
[10] Name this 1875 American scandal that began in St. Louis with the diversion of tax revenues by distillers of a namesake alcoholic beverage.
ANSWER: Whiskey Ring
[10] The Whiskey Ring was exposed during the presidency of this eighteenth U.S. president, the successor to Andrew Johnson.
ANSWER: Hiram Ulysses S. Grant
[10] Ulysses S. Grant appointed this Indiana representative, who was involved in the Credit Mobilier scandal, as his first vice president.
ANSWER: Schuyler Colfax
14. This comedian was featured in the 2006 White House Correspondents’ Dinner. For 10 points each:
[10] Name this American comedian who was a fake correspondent for The Daily Show before hosting a spin-off of that show, his namesake report.
ANSWER: Stephen Tyrone Colbert
[10] This 2007 Stephen Colbert book satirizes his fictional life story; it was influenced by other books written by Sean Hannity and Bill O’Reilly
ANSWER: I Am America (And So Can You!)
[10] The Colbert Report is hosted on this cable television network that features shows such as South Park in addition to numerous standup acts.
ANSWER: Comedy Central
15. The Battle of Cartagena occurred during this leader’s administration. For 10 points each:
[10] Name this first British prime minister who served the Hanover Dynasty from 1721 until 1742.
ANSWER: Sir Robert Walpole
[10] Robert Walpole served this king of Great Britain who, at the Battle of Dettingen, was the last one to personally lead his troops to battle; this king was succeeded by George III.
ANSWER: George II [or George Augustus]
[10] Although successful in handling the Falklands Crisis, this British prime minister would lose the American colonies while serving from 1770 until 1782.
ANSWER: Lord Frederick North, 2nd Earl of Guilford
16. Luke is the husband of the titular character of this novel. For 10 points each:
[10] Name this Canadian novel in which the titular character acts as a surrogate womb for Serena Joy, the wife of Fred.
ANSWER: The Handmaid’s Tale
[10] This Canadian writer wrote Surfacing, Life Before Man, The Edible Woman, and The Handmaid’s Tale.
ANSWER: Margaret Eleanor Atwood
[10] The Handmaid’s Tale was an example of this type of literature that depicts a negative version of utopias. 
ANSWER: dystopian
17. These numbers can be generated by the Sieve of Eratosthenes. For 10 points each:
[10] Name these numbers that contain no positive divisors besides one and itself; these numbers include values such as two, three, five, seven, eleven, thirteen, seventeen, and nineteen.
ANSWER: prime numbers
[10] These types of prime numbers satisfy the expression two the nth power minus one; in other words, they are positive integers that are one less than any power of two.
ANSWER: Mersenne primes

[10] These numbers include values such as eight thousand one hundred twenty-eight, four hundred ninety-six, twenty-eight, and six; they are defined as positive integers that equal the sum of their proper positive divisors.
ANSWER: perfect numbers
18. Carl Peterson is examined by Dr. Benway in this novel. For 10 points each:
[10] Name this novel in which Hauser and O’Brien are killed by the streetwise addict William Lee.
ANSWER: Naked Lunch
[10] This American writer wrote The Place of Dead Roads, Nova Express, The Soft Machine, Queer, Junkie, and Naked Lunch.
ANSWER: William Seward Burroughs II [prompt on William Lee]
[10] William S. Burroughs was a part of this group of writers who rejected mainstream values, embraced Eastern religions, and experimented with drugs and sexuality.
ANSWER: Beat Generation [or Beatniks]
19. The Pepper Coast encloses this country. For 10 points each:
[10] Name this African country, governed by leaders such as William Tolbert and Ellen Johnson-Sirleaf, which was settled by the American Colonization Society as a place for freed slaves.
ANSWER: Republic of Liberia
[10] Governed by Mary Broh, this capital of Liberia was named after the fifth U.S. president, James Monroe.
ANSWER: Monrovia
[10] The West Africa Mountains’ Guinea Highlands contain Liberia’s highest point at this mountain.
ANSWER: Mount Wuteve
20. Maria Truczinski is impregnated by the protagonist in this novel. For 10 points each:
[10] Name this German novel in which Mr. Bebra is friends with the love child of Jan Bronski and his cousin Agnes, Oscar Matzerath.
ANSWER: The Tin Drum [or Die Blechtrommel]
[10] This German writer wrote The Tin Drum in addition to winning the George Buchner Prize in 1995 and the Nobel Prize in Literature in 1999.
ANSWER: Gunter Wilhelm Grass
[10] In this Gunter Grass novel, the titular character gets caught in the sea by three radical feminists who place that character on trial before eleven cooks; it also depicts the narrator’s wife bearing a child named Ilsebill, a reference to “The Fisherman and His Wife.”
ANSWER: The Flounder [or Der Butt]
21. The Dragon’s Eye resembles this shape. For 10 points each:
[10] Name these geometrical shapes that can satisfy the Pythagorean theorem if the sum of the squares of two of its side lengths equals the third side length.
ANSWER: triangles
[10] This formula is expressed as area equals the square root of the product of the semiperimeter and all the differences between each side and the semiperimeter of a triangle
ANSWER: Heron’s formula
[10] Unlike Hero’s formula, this formula is expressed as area equals only the product of all the differences between each side and the semiperimeter of a cyclic quadrilateral.
ANSWER: Brahmagupta’s formula
